§38E 202557 RSAHATIVAFTFZAXE
ZFA RRO—

%6 — LK) —F RANX. T7AFII0PFATL—D

XIBAI(CDWT 1.E2HME0%E 23R 3.EEER 48Ty bR (EHtY hOFE)

HENE 1-2. 3-4. 1-3. 2-4. 1-4. 2-3

5885 — A%

20253H23H (H)

F—L% A )~ i@ 1 4 BUES — N AT
SEEN |7 —F02 76 16
. SH =¥ NYISNTC 6 4 6 3
1 — - 2
PoE—F I R LYY R 9 11 10 5
WL RS | F LRy
XEHT | CHRS—X& 64 6 4
. . it RE THRSTZREB 4 6 6 3
2 | TFTIFR » 1
Rk BT KT TFIRRFTZXE 11 9 10 6
SR BT | THRF=RE
Emk BT NYISNTC 56 6 5 06
3|men E’E‘EI BE3E T_FOx 6 1 6 2 6 5 4
TR && =Sy e 4 10 6 10 4 10
T & LRysx
ZH FIRE |CHTOFU 6 1 0
KEF "fFEE  |KTC 36 6
HTFLAOBOOEY ey ew |cHroFU 5 10 10 4 3
9BSF BB |CHA D%V

(8812—R] Wo>=E—7




202538238 (A)
5§$38MH 202557 FSHTIVAFZAKE
LZFBC {RRO—
%6 —L%H)—F7 RARK., J714FI10PHIATL—L
MIBRIICDWT 1.Z2RAEDEE 2.BXR 3EEHR 4.0E8TY MR Bty hDBE) S5.HEBS—LAX
HAIE 1-2. 3-4. 1-3. 2-4. 1-4. 2-3
A F—L% A )\— Zil= 1 2 3 4 T TEE B B — K Az
EEZ= NISNTC 60 6 1 6 1
N 2K ANE ATISNTC 60 6 6 1
1 |ATISNTC? — 1
B WA E [ou— 102 | 103 | 105 3 0
EmE HOT-BERRY
EIp=ES =S 06 06 06
= SH ~
e SEK AT eSS 06 16 06 5 03 .
U hFER A & LRSS R 2 10 610 | 4 10
FIE 167 = Ss s
T BT ATSNTC 16 60 60
N - — BilE 4% teamkelog 36 6 1 6 3
3|Hh—2a33 Afa 3 2—1 2
737 AUl EEF  |HOT-BERRY 310 10 6 119
KR =AE teamkelog
T ¥8 =S 16 60 06
- il FE5F =Sy 16 60 36
4|FHh= 3 1—2 3
TH=F =ES IS e 5 10 104 | 911
il BRF | LRFDR
HAIE 1-2. 3-4. 1-3. 2-4. 1-4. 2-3
B F—L% A )\— Zil= 1 2 3 4 T TEE B g4 — 1K Nz
TEO BT |KIC 36 6 1 65
_ . |EAmBE CHA DU 06 36 06
1772 5 3 1—2 3
ITIIATAVIIN e xmn |SU— 7 10 108 | 510
NE/aEs JU—
ER M BHETC 6 3 60 76
HtEE BRETC 60 56 56
2 |BmTC 3 2—1 2
B BT SBA BRETC 10 7 106 | 510
BE &X HmETC
BE BT =S 16 06 06
HeF S e 63 65 26
3 |team. LuL 3 0—3 4
eam. tutun A BEAR  LRYiR 810 | 6 10 7 10
e BT LRSS R
B RE | TR — <& 56 6 4 60
. AK FA THFRF=E 60 65 62
4|flying b 30 1
ying bees IR KTC 105 | 105 | 107 3
BE BEE KTC
(13— R]  AWSNTC?  [823—R] I7292F 1 vo5K
202538238 (A)
5§$38MH 202557 FSHTIVAFZAKE
LZFBC {RRO—
[RES h—F A2 )
F—L% A )\— Zil=
= =1 NIISNTC
- B s INYISNTC
A1|ATISNTC?
a 1Ak BB JU— 62
EmE HOT-BERRY 65
10 8 e
: _ SNTC?
F—L& Xo— i =
Sl T TIFIRFTZREB
. AR FHK TIFIRFTZREB
B1|flying bees At =R KTC
25 BEE KTC
[3fLRTEEK]
F—L% A )\— Zil=
TRAR BT NYISNTC
5 < = Bz 4% teamkelog
A2l h—>33 AUt
¥ AUl MEF  |HOT-BERRY 6 1
KR &=AE teamkelog 6 5
8 10 . _
: _ —237
FoL& X i Ab—=s2
ER M BHETC
HEBE HmETC
B2|BRITC
B BiR R HmETC
BE &X HmETC




2025%3H238 (H)
838El 202557 FSHTIAT=ZAKE
SvHRA {RRO—
*2RE65'— A% (XHE 845 —LKHICEE)
XIBALCDWT 1.EZEREDLZSE 2.E 3.EEER 4880y bR Bty hoiFE) S5.HEES—LAEX
HAlE 1-2.2-3.1-3

F—L% A )\— g 1 2 3 SETaERAe | BX  (Besr-oxl B
mAZRE [AEJU—>TC 5 8 6 8
1 15+XDZD FHEE— |BEsyU—>TC 38 8 7 3 0—2 3
IR REE30N? i BAZE  |CHDFU 138 58
A BIEF |KTC
a8 88 NILA K> 8 5 81
. . |[BEsR |RLR Y 8 81
2 ilEINDETAZRFELURL Fk BH IR 8 1 8 4 3 2—0 1
s BT |[TILR >
NEF)| - | ZRENE 8 6 18
— — % EA —KBENE 7 8 18
3|SFPNLTTE RO BF  [CHADFU 85 4 8 3 S 2

MHE FRE |[CHADOFU
(881>—R] 15+XDZOBBRKREERZHN ! ?

Z=yPABC {RRO—

*6F— LK) —F RAER. T7AAFI10PFLTL—D

XIBRI(CDOWT 1LESHADSE 23R 3EETR 4005y MR BTy bOBE) S5.HIES—LXK
HAIE 1-2. 3-4. 1-3. 2-4. 1-4. 2-3

F—L% A2 )(— FhlE@ 1 2 3 4 TraEa | BE  |(mes—ox| AL
XEWE [ CIRS =<5 61 | 62 | 06
— < . EE = JU— 6 1 36 16
1 W< — J—
TIvEv=A ML EE LRYx 8§10 | 104 | 810 3 21 2
ER R | TR
B iEF KTC 16 6 1 6 4
K #I—BB |KTC 16 2 6 36
2 | —
SFEFRBOR Mt BT  |KTC 10 8 119 | 510 3 12 3
KW EF |KTC
SBE BE LRI X 26 | 16 36
Z4FHE EA | ORIEE 6 3 6 2 2 6
3| %18 —
HIGHHE s R 410 | 911 5 10 3 03 4
IR B | ORSEE
BEE  LRToX 60 | 46 | 63
. fRIE BA LR X 6 1 6 3 6 2
4|F— .
FAEB WG R LY 108 | 105 | 105 3 30 !
L RRRE LY




